The Sine Rule

2 é\REVISE THIS
TOPIC

1 Hereis triangle ABC. B

11cm

75° n
A C

Work out the length of AB.
Give your answer to 1 decimal place.

x |\

sin()  sin(¥S)

X. = “Slh(zq')
Sin(35) k-6 .

(Total for Question 1 is 3 marks)

2 Hereistriangle ABC.

A 6.cm B

81°

Work out the length of BC. C
Give your answer to 1 decimal place.
x _ b

Sin( 8\ Sin(s1)

* = b sin (8\\
Sin (51) 36
(Total for Question 2 is 3 marks)
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3 Hereistriangle ABC. B
20cm
14 cm
77°
A C
Work out the size of angle BAC.
Give your answer to 1 decimal place.
sin(x) _ sin(3F) sin (x) = 0-68205...
|4 20
sin(3) = lbsin (‘-F)\ x= sin'(0-6320.)

20
43- 0

(Total for Question 3 is 3 marks)

4 Hereis triangle ABC. B
50 cm

38cm

Work out the size of angle ABC.
Give your answer to 1 decimal place.

sin(x) __sim(A) sin () = 0-35962...
RY™ SO
Sin (1) = 33 S\l\(q’)_\ X= Sin’ (O'QSQSJ._.\
SO

i Bl

(Total for Question 4 is 3 marks)
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Here is triangle ABC.
5 Hereistriangle ABC 5 22 em

C

19°

Work out the length of AC.
Give your answer to 1 decimal place.

X .21
Sin(128)  sin(\Q)

« = wusin()

sin (1)
(Total for Question 5 is 3 marks)
6 Here istriangle ABC. B
12 cm 13 cm
85°
A C

Work out the size of angle BCA.
Give your answer to 1 decimal place.

sin(x) | sin(85) sin (1) = 0-419 564
| 2 \3
sin(3) = 12sin(88) x= sin(0O-9s6..)
1y

669 -

(Total for Question 6 is 3 marks)
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7 Here is triangle ABC. A

>

18 cm

14 cm

Work out the size of angle ABC.
Give your answer to 1 decimal place.

Sin () Sinlt4) Sin (x) = O 84311..
3 % x= sin(0-82313..)
sin(3) = 18 sin(4) x= 63-264S..
1%

\20 - 632695.. | 1G - F -

(Total for Question 7 is 3 marks)

! ®)

9cm

X S obtuse sO

8 Here istriangle ABC.

60° 45°
B C

Work out the length of AB.
Give your answer in the form kv/6 , where k is an integer.

X _ 1 = ﬂ_@. X .
SN (45)  sinGD >
L= %n(49) |x: WZ X B
Sin(60) ﬁ\r (3
VZ _ Ve
= X = =
= 26
2 (Total for Question 8 is 4 marks)
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9 ABC and BCD are triangles.

B
VB
h
. & D
A 14cm C 12 em
The area of triangle ABC is 154 cm?
Work out the size of angle ABD.
A x & % L = 1SW
L
W= 2lom

Sin(a) - sin(F) fan(n) - Jﬁl’_

1L 2L 2L
'.y\ = \24\ (%&) - y\dl l
sinl) = Lol g7t (%)
sin() = 0-S206..

x = sin'(0-SUb-..)
X = 3\L|.L|»‘

AUGYHl .+ 247

il (Total for Question 9 is 5 marks)
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10 ABCDE is a regular pentagon
AEF and CDG are triangles.
FEDG is a straight line.

Work out the size of angle CGD.

angle AEF = apgle CDG = 1%9 - 32°

¥ _ ¥ Sin() - sin(32)
sin(62)  =in(72) 3421 20
Y = R sin(62)  sin(x) = FW-sin(F2)
Sin (F2) 20
y = +0423.. Sin(x) = 0-3s%UF .

x = sin' (0-3s31F.)
x = 20 6%¥18222¢

(Total for Question 10 is 6 marks)
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11 ABC isatriangle.
ABD is a sector with centre A.

B
9cm 15cm
32°
A D C
Work out the area of sector ABD.
sin() _ Sin(32) sin(x) = 0821 ..
(S q x= sin (02921 ..)

sin(3) = |9 sin(32) x= 620306,
9

Are/a, = 62-01.. X T0 X qz_
560

43 B4 € 87|

W

428 ..

(Total for Question 11 is 5 marks)
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